PETER C.P. TROMPSON, Q.C. T 613.767.3528 pihompson@big.com Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St. Suite 1300 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 blg.com



Our File # 339583-000191

By electronic filing

April 14, 2015

Kirsten Walli Board Secretary Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th floor Toronto, ON M4P 1E4

Dear Ms. Walli

Re:

Hydro One Networks Inc. ("Hydro One")

North West Bulk Transmission Line Deferral Account

Board File #:

EB-2014-0311

We have been advised by Hydro One that there is a calculation error in the Cost Claim submitted on behalf of Canadian Manufacturers & Exporters ("CME").

There is a missing time entry of 0.3 hr for Peter Thompson on March 27, 2015.

Please note that the Summary of Fees and Disbursements amounts are correct and do not require amendment. The correction only affects the Detail of Fees and Disbursement sheet for Peter Thompson.

A corrected copy of CME's Cost Claim is attached and for clarification, we also attach a copy of our firm's accounting records with the missing time entry highlighted.

We apologize for this oversight. Should you require additional information, please do not hesitate to contact us.

Yours very truly

Borden Ladner Gervais LLP

\slc

enclosure

C.

Susan Frank (Hydro One)

Paul Clipsham (CME)

OTT01: 6930036: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				nstructions			
- Required data in	put is indicate	d by yellow-shaded fiel	ds. Formulas	are embedded	d in the form	to assist with calculations.	
- All claims must b	e in Canadian	dollars. If applicable, s	state exchang	e rate and co	untry of initia	al currency.	
			Rate:		i	Country:	
Being Claimed") is Disbursements" co - The cost claim m - A CV for each co	s required for e overing the wh nust be suppor nsultant/analy	ach lawyer, analyst/co ole of the party's cost ted by a completed Aff st must be attached ur	nsultant and claim should davit signed less provided	articling stude be provided. by a represent I to the Board Direction on	nt/paralegal rative of the as prescribe Cost Award	d on the Cost Award Tariff. ds, itemized receipts must be pr	rovided.
File # EB- 20	014-0311		Process	Hydro One Deferral A		s Inc North West Bulk Tran	ismission Line
	J14-U311		FIUCESS.	Delettal A	ccount		
Party: <u>Ca</u>	anadian Ma	nufacturers & Expe	orters	_ Affi	ant's Nam	ne: Peter C.P. Thompson, QC	
HST Number:	10807 5	482 RT0001		-	Н	ST Rate Ontario: 13.00%	
		Full Registrant			Qua	lifying Non-Profit	
		Unregistered				Tax Exempt	
		Other	✓.			·	
				Affidavit			
I, Po	eter C.P. Tł	nompson, QC		, of the C	ty of	Ottawa	
in the Provinc			ntario	- ′	•	, swear or affirm that:	
2. I have examine Claimed", "Staten 3. The attached "S	d all of the doo nent(s) of Fees Summary of Fe Iclude only cos	umentation in support Being Claimed" and "S es and Disbursements	of this cost of tatement(s) of Being Claime	laim, includin of Disburseme d", "Statemen	g the attache nts Being Cla t(s) of Fees E	f the matters attested to herein. ed "Summary of Fees and Disbursem simed". Being Claimed" and "Statement(s) of ty's participation in the Ontario Ener	Disbursements
	6.09 of the Bo	de any costs for work d ard's Practice Direction			rson that is a	an employee or officer of the Party a	as described in
_			•				
		re me at the City	ot	Ottawa		A:11/1 201F	,
in the Provinc	ce of	Ontario	99000000000000000000000000000000000000		, on	April (4 , 2015 (date)	•
	athen	v Eddy	e.			·	
Commissione	er tor takin	g Affidavits		leathada	a Marriam Ed	idy a Commissioner etc	

Katherine Merriam Eddy, a Commissioner, etc., Province of Ontario, for Borden Ladner Gervais LLP, Barristers and Solicitors. Expires February 3, 2018.

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Hydro One Networks Inc. - North West Bulk Transmission Line

File # EB-

2014-0311

Process: Deferral Account

Party:

Canadian Manufacturers & Exporters

Summary of Fees and Disbursements Being Claimed								
Legal/consultant/other fees	\$3,582.00							
Disbursements	\$53.25							
HST	\$472.58							
Total Cost Claim	\$4,107.83							

Payment Information

Make cheque payable to: Borden Ladner Gervais LLP

Send payment to this address: Borden Ladner Gervais LLP

Attention: Peter C.P. Thompson, QC

World Exchange Plaza

100 Queen Street, Suite 1300

Ottawa, ON K1P 1J9

Ontario Energy Board COST CLAIM FOR HEARINGS



MANAGEMENT PROPERTY CONTROL OF		yana amang maganag maganag pang pang karang pang pang pang pang pang pang pang p	Hydro One Networks I	nc North West Bulk Trai	nsmission
File # EB-	2014-0311	Process:	Line Deferral Account		
Party:	Canadian Manufacturers & Ex	cporters	Service Provider Name:	Peter C.P. Thompson, QC	ANDROGO AND
	Service Provider Type	(check one)	Year Called to Bar	•	rs Practising/Years nt experience
	Legal Counsel	V	1967		45+
	Articling Student/Paralegal				
	Consultant			Hourly Rate:	\$330.00
	Analyst			•	
	For Consultant/Analyst:		CV attached	HST Rate Charged (enter %)	13%
			CV provided within previous	s 24 months	

St					
	Hours	Hourly rate	Subtotal	HST	Total
Preparation	0.80	\$330.00	\$264.00	\$34.32	\$298.32
Interrogatories					
Preparation	0.80	\$330.00	\$264.00	\$34.32	\$298.32
Argument					****
Preparation	2.70	\$330.00	\$891.00	\$115.83	\$1,006.83
	550 5055 5354				
TOTAL SERVICE PROVIDER FEES			\$1,419.00	\$184.47	\$1,603.47

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



264.00

891.00

\$1,419.00

File #:	EB-2014-0311					
Process: Hydro One Networks Inc. – North West Bulk Transmission Line Deferral Ac						
Party:	Canadian Manufacturers & Exporters					
Name:	Peter Thompson					
Nov 27-14	Prepare and finalize request for intervenor status and cost eligibility for CME	0.5	Preparation			
Jan 23-15	Considering Interrogatories to Hydro One from Board Staff; drafting and finalizing CME Interrogatories; considering Interrogatories of SEC and Energy Probe	0.8	Interrogatories Prep			
Feb 5-15	Reviewing Hydro One Responses to Interrogatories; considering issues and drafting comments for E. Blanchard and V. DeRose to consider	1.6	Argument Prep			
Feb 9-15	Briefing E. Blanchard	0.1	Argument Prep			
Feb 11-15	Reviewing SEC draft Submissions; email to E. Blanchard	0.2	Argument Prep			
Feb 12-15	Reviewing draft Submissions; meeting with E. Blanchard	8.0	Argument Prep			
Mar 27-15	Reviewing Board Decision and Order	0.3	Preparation			
	Total Hours for Peter Thompson:	4.3				
	<u>Hours</u>		<u>Fees</u>			
Preparation	$0.8 \times $330.00/hr =$		264.00			

Total Fees for Peter Thompson:

x \$330.00/hr =

x \$330.00/hr =

8.0

2.7

4.3

OTT01: 6753444: v1

Argument Prep

Interrogatories Prep

Date Printed: Apr 2, 2015 14:03:20 ET

Prebill # 5448102

Time Thru:

Apr 2, 2015

Canadian Manufacturers & Exporters 339583

Matter Resp. Lawyer: 28261 P.C. Thompson

Disbursements Thru: Prebill Requested by:

Apr 2, 2015 Ho, Bevan

000191 Hydro One - North West Bulk Tx Line Deferral Matter Billing Lawyer: 28261 P.C. Thompson Client Resp. Lawyer: 28261 P.C. Thompson

Prebill Requested on:

Apr 2, 2015

Account

Prebill Printed by: Castanza, Suzanne

Matter Language:

EN

TIME DETAILS (through April 2, 2015)

		Tkpr			6 A				
Date	Time ID	No.	<u>Timekeeper</u>	Loc.	Description	Hours	Rate	Amount	<u>Instructions</u>
Jan 23, 2015	27366791	28261	P. C. Thompson	OTT	Considering Interrogatories to Hydro One from Board staff; drafting and finalizing CME Interrogatories; considering Interrogatories of SEC and Energy Probe.	0.80	330.00	264.00	
Feb 5, 2015	27423982	28261	P. C. Thompson	OTT	Reviewing Hydro One Responses to Interrogatories; considering issues and drafting comments for E. Blanchard and V. DeRose to consider.	1.60	330.00	528.00	
Feb 9, 2015	27418470	28745	E. Blanchard	OTT	Conference with P. Thompson re: preparation of submissions.	0.40	230.00	92.00	
Feb 9, 2015	27492412	28261	P. C. Thompson	OTT	Briefing E. Blanchard.	0.10	330.00	33.00	
Feb 10, 2015	27418473	28745	E. Blanchard	OTT	Review Application, Responses to Interrogatories and related materials; draft written submissions.	2.00	230.00	460.00	-
Feb 11, 2015	27419972	28745	E. Blanchard	OTT	Receipt and review of Draft Submissions from SEC; continue drafting CME submissions; consider SEC position and emails to and from M. Rubenstein.	3.50	230.00	805.00	
Feb 11, 2015	27492750	28261	P. C. Thompson	OTT	Reviewing SEC draft Submissions; email to E. Blanchard.	0.20	330.00	66.00	
Feb 12, 2015	27425450	28745	E. Blanchard	OTT	Conference with P. Thompson to discuss revisions to written Submissions; draft revisions to Submissions; further discussion with M. Rubenstein re: Causation.	3.00	230.00	690.00	
Feb 12, 2015	27492796	28261	P. C. Thompson	OTT	Reviewing draft Submissions; meeting with E. Blanchard.	0.80	330.00	264.00	
Mar 27, 2015	27 628373	28261	P. C. Thompson	OTT	Reviewing Board Decision and Order.	0.30	330.00	99.00	

Ontario Energy Board COST CLAIM FOR HEARINGS



File # EB-	2014-0311 Proces	Hydro One Networks Inc ss: Line Deferral Account	North West B	ulk Transmission
Party:	Canadian Manufacturers & Exporters	Service Provider Name: Po	eter C.P. Thomps	son, QC
	Statement of D	isbursements Being Claim	ed	
		Net Cost	HST	Total
Scanning/F	Photocopying: 13 copies @ \$0.25 each	\$3.25	\$0.42	\$3.67
LPIC Levy S	Surcharge (as in previous cost claims)	\$50.00	\$6.50	\$0.00
Other:			\$0.00	\$0.00
				1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1
TOTAL DISI	BURSEMENTS:	\$53.25	\$6.92	\$3.67

Ontario Energy Board COST CLAIM FOR HEARINGS



File # EB-	2014-0311	Hydro One Networks Inc North West Bulk Transmission Process: Line Deferral Account						
Party:	Canadian Manufacturers & Ex	(porters	Service Provider Name:	Vincent J. DeRose	·			
	Service Provider Type	(check one)	Year Called to Bar	•	rs Practising/Years nt experience			
	Legal Counsel	V	2001		14			
	Articling Student/Paralegal		<u> </u>	· · · · · · · · · · · · · · · · · · ·				
	Consultant			Hourly Rate:	\$290.00			
	Analyst							
	For Consultant/Analyst:		CV attached	HST Rate Charged (enter %)	13%			
			CV provided within previous	s 24 months				

Statement of Fees Being Claimed							
	Hours	Hourly rate	Subtotal	HST	Total		
Preparation	0.40	\$290.00	\$116.00	\$15.08	\$131.08		
Case Management	.,		•				
TOTAL SERVICE PROVIDER FEES			\$116.00	\$15.08	\$131.08		

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2014-0311 Hydro One Networks Inc. – North West Bulk Transmission Line Deferral Account Canadian Manufacturers & Exporters							
Process:								
Party:								
Name:	Vince DeRose	Vince DeRose						
Nov 18-14	Reviewing Notice of Ap	0.4	Preparation					
		Total Hours for Vince DeRose:	0.4	_				
	<u>Hours</u>			<u>Fees</u>				
Preparation	0.4	x \$290.00/hr =		116.00				
	0.4	Total Fees for Vince DeRose:		\$ 116.00				

Ontario Energy Board COST CLAIM FOR HEARINGS



File # EB-	2014-0311	Hydro One Networks Inc North West Bulk Transmission Process: Line Deferral Account							
Party:	Canadian Manufacturers & Ex	cporters	_ Service Provider Name:	: Emma Blanchard					
	Service Provider Type	(check one)	Year Called to Bar	•	rs Practising/Years It experience				
	Legal Counsel	. 🖸	2007		8				
	Articling Student/Paralegal			· · · · · · · · · · · · · · · · · · ·					
	Consultant			Hourly Rate:	\$230.00				
	Analyst			-					
	For Consultant/Analyst:		CV attached	HST Rate Charged (enter %)	13%				
			CV provided within previous	s 24 months					

Statement of Fees Being Claimed								
	Hours	Hourly rate	Subtotal	HST	Total			
Argument					MANAGEMENT OF THE CONTRACT OF			
Preparation	8.90	\$230.00	\$2,047.00	\$266.11	\$2,313.11			
Case Management								
TOTAL SERVICE PROVIDER FEES			\$2,047.00	\$266.11	\$2,313.11			

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2014-0311			
Process:	Hydro One Networks Inc. – North West Bulk Transmission Line Deferral Account			
Party:	Canadian Manufacturers & Exporters			
Name:	Emma Blanchard			
Feb 9-15	Conference with P. Th	ompson re: preparation of submissions	0.4	Argument Prep
Feb 10-15	Review Application, Responses to Interrogatories and related materials; draft written Submissions			Argument Prep
Feb 11-15	Receipt and review of draft Submissions from SEC; continue drafting CME Submissions; consider SEC position and emails to and from M. Rubenstein			Argument Prep
Feb 12-15	Conference with P. Thompson to discuss revisions to written Submissions; draft revisions to Submissions; further discussion with M. Rubenstein re: causation		3.0	Argument Prep
		Total Hours for Emma Blanchard:	8.9	
	<u>Hours</u>			<u>Fees</u>
Argument Prep	8.9	x \$230.00/hr =		2,047.00
	8.9	Total Fees for Emma Blanchard:		\$2.047.00